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12+ J+[]<[]+[]=750
12:750><\:|><\:|>< x\:|
x| Ix[ ]x[ ]=12+750=0.0016
16 1 1 1 1 1
0.0016 = T5000 = 625 ~ 55 %5 %5
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=[ |x08x06

= |:|>< 0.48

(7] E5A)+(H ] BFA)=83.2
— [ ]x08+] ]x0.48 =832

[ ]x(0.8+048) =83.2

[ ]x1.28 =832

[ ]=832+1.28

[ ]=65(kg)
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ta29] Zo])= 2.8 - 2.52 = 0.28(cm)

pd

T




8.

ok AbrhelEol A siel olot ofu Y Aol S
11 0] Zo]o] 2.2 ek, o} o] Lot

\ | ¥o]:12.32cm?

>
> HE:. 42cm

+ (o}=H¥ 9] Zo]))x3.2 = 2 = 12.32(cm?)
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E% 27 AU, TP 919 E5S 15208

@ 1797 @) 1047 ® 27670
@ 2257) ® 16974

1= 1x1
2% 1 3x3
3Z:5x%x5

22 AR BATT] FAA,
By ZO| BIIUR L (3x3) + (TxT7) + (11 x 11)

+ (15 x 15)
=9+ 49 + 121 + 225 = 404( 71
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F = A4 [ x11

Fapat shte] 744 [ ]x 13

ot 270 7hA O H] = 13: 15

[ ]x11)+100:( ]x13)+100=13:15
{(Jx13) + 100} x13 = {(_]x11) + 100} x 15
[ Jx13x13+100x13 =] |x11x15+100x 15
[ ]x169-] ]x165= 1500 - 1300
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1500 x| = (6400 - 100 x| ]) x5
1500 x| ] = 32000 - 500 x| |

(1500 x| ) + (500 x[_]) = 32000
2000 x| | = 32000

=[ J=16(7M)
wrehA] 500 A F2 1671 , 100 94 -2 48 7Y .
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A @9 xS [ &t 5,

& @2 A S 3x [ |YYrt,

(o9 Woh)=[ [x[ |x3.14
(dapelsel)= 3x[ [ x(3x[ ])x3.14
=9x ([ Jx[ |x3.14)

=9x (2 @9 Hol)

ohebA, (A 2E o yol) &

= (A9 Hol) x(9-1)

— 23.52 x 8 = 188.16( cm?)
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{(8x8><3.14><}1) + <6x6x3.14x711)

4x4x3.14x;11>+(2x2x3.14xi)}

= 50.24 + 28.26 + 12.56 + 3.14
= 94.2(cm?)
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> & 114cm
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(9] 712) = (LA o] &2 Ho))
= (BHY] A E) x3.14

(U] 2] 5)= 314 + 3.14 = 100( cm)

(27159 &0])= 314 — 100 — 100 = 114( cm)
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o] 5024cm°] X—]/\]-71-o:]_,] }_o] ] %7]%—9]
Utk o] AAER rEold 97]% ] FolE

TN 2., Qo] Sl 2189 314Ut
_-50,24cm <
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> ®E: 1824cm
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(€99 7I2) = (B 99 E9 Z9J)

= (¥¥9 A &) x3.14
(WA ]5)=50.24 + 3.14 = 16( cm)
(97159 &ol)=

50.24 — 16 — 16 = 18.24( cm)
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(F¥O] 71=2) = (U] ¥ E9] Zdol)

= (@H9 2 F) x3.14
(WA 2]5)=37.68 + 3.14 = 12(cm)
(27159 =0])= 37.68 — 12 — 12 = 13.68( cm)




